# Hopf Bifurcation for a New Chaotic System 

Kejun Zhuang


#### Abstract

In this paper, a three dimensional autonomous chaotic system is considered. The existence of Hopf bifurcation is investigated by choosing the appropriate bifurcation parameter. Furthermore, formulas for determining the direction of the Hopf bifurcation and the stability of bifurcating periodic solutions are derived with the help of normal form theory. Finally, a numerical example is given.


Keywords—Chaotic system, Hopf bifurcation, normal form theory.

## I. Introduction

IN 1963, Lorenz found the first canonical chaotic system in [1] as follows,

$$
\left\{\begin{array}{l}
\dot{x}=a(y-x)  \tag{1}\\
\dot{y}=c x-x z-y \\
\dot{z}=x y-b z
\end{array}\right.
$$

The system has been extensively studied in the fields of chaos theory, dynamical systems as well as chaos control and synchronization. Later, an even simpler chaotic system was constructed in [2]:

$$
\left\{\begin{array}{l}
\dot{x}=-(x+y)  \tag{2}\\
\dot{y}=x+a y \\
\dot{z}=z x-c z+b
\end{array}\right.
$$

From then on, some other chaotic systems were established, such as Chen system [3], Lü system [4], Liu system [5], Qi system [6], T system [7] and so on. Basic dynamical properties of these systems were studied by means of theoretical analysis, numerical simulation, Lyapunov exponent spectrum, bifurcation diagrams and Poincaré section diagrams. The chaotic systems have great potential applications in secure communications.

In this paper, we mainly consider a three dimensional autonomous chaotic system proposed by Wang et al. [8-9] in the form

$$
\left\{\begin{array}{l}
\dot{x}=a(x-y)  \tag{3}\\
\dot{y}=-c y+x z \\
\dot{z}=-b z+d x y
\end{array}\right.
$$

where $(x, y, z) \in \mathbf{R}^{3}$ and $a, b, c, d \in \mathbf{R}$. It has a chaotic attractor as shown in Fig. 1 when $a=20, b=2, c=28$ and $d=1$. For system (3), stability of equilibria and heteroclinic orbit of Shil'nikov type have been investigated. However, the relationship between the Hopf bifurcation and the system parameters has not been clarified yet.

The aim of this paper is to study the Hopf bifurcation from equilibrium by taking one coefficient as bifurcation parameter. By applying normal from theory and center manifold theorem,

[^0]the direction of Hopf bifurcation and the stability of bifurcating periodic solutions are presented. Finally, a numerical example is given to support the analytic results.


Fig. 1. Chaotic attractor of system (3) with $a=20, b=2$,

$$
c=28 \text { and } d=1
$$

## II. Local stability and existence of Hopf BIFURCATION

By simple analysis, it is easy to obtain that if $b c d<0$, then system (3) only has one equilibrium $O(0,0,0)$; if $b c d>0$, then system (3) has three equilibria $O(0,0,0), E_{1}\left(x_{0}, y_{0}, z_{0}\right)$ and $E_{2}\left(-x_{0},-y_{0}, z_{0}\right)$, where $x_{0}=y_{0}=\sqrt{b c d} / d, z_{0}=c$.
Lemma 2.1. For system (3), we have the following results: (i) if $a>0, b<0$ and $c<0$, then $O(0,0,0)$ is asymptotically stable;
(ii) if $a<0$ or $b>0$ or $c>0$, then $O(0,0,0)$ is unstable;
(iii) if $b+c-a>0, a b c>0$ and $a b(a-b-3 c)>0$, then $E_{1}$ and $E_{2}$ are asymptotically stable.
Proof. (i) and (ii) are obvious, we mainly consider the third result. Let $x_{1}=x-x_{0}, y_{1}=y-y_{0}, z_{1}=z-z_{0}$, we can shift the equilibrium to the origin:

$$
\left\{\begin{array}{l}
\dot{x}_{1}=a\left(x_{1}-y_{1}\right)  \tag{4}\\
\dot{y}_{1}=-c y_{1}+x_{0} z_{1}+z_{0} x_{1}+x_{1} z_{1} \\
\dot{z}_{1}=-b z_{1}+d x_{0} y_{1}+d y_{0} x_{1}+d x_{1} y_{1}
\end{array}\right.
$$

The characteristic equation of system (4) is

$$
\begin{equation*}
f(\lambda)=\lambda^{3}+(b+c-a) \lambda-a b \lambda+2 a b c=0 \tag{5}
\end{equation*}
$$

Let $A=b+c-a, B=-a b$ and $C=2 a b c$. By Routh-Hurwitz criteria, the roots of (5) have strictly negative real parts if and only if $A>0, C>0$ and $A B-C>0$. Then we have

$$
b+c-a>0, \quad a b c>0, \quad a b(a-b-3 c)>0
$$

This completes the proof.

Assume $a<0<b$, condition (iii) in Lemma 2.1 can be simplified as

$$
\frac{a-b}{3}<c<0
$$

Hence, $A>0, B>0, C>0$, and we have $f(\lambda)>0$ for any $\lambda>0$. There is an instable equilibrium only if there are a pair of complex conjugate roots for (5). Let these two roots be $\lambda_{1,2}= \pm i \omega$, then we have

$$
\lambda_{1}+\lambda_{2}+\lambda_{3}=a-b-c .
$$

Therefore, $\lambda_{3}=a-b-c$, which is on the margin of stability for system (3). Then we have

$$
f\left(\lambda_{3}\right)=-a b(a-b-3 c)
$$

and

$$
c=c_{0}=\frac{a-b}{3} .
$$

Thus, Hopf bifurcation may occur at $E_{1}$ and $E_{2}$. Next, we will prove that the positive equilibrium $E_{1}$ will lose its stability when $c=c_{0}$.
Theorem 2.2. Assume $a<0<b$ and $c<0, d<0$, when $c$ passes through the critical value $c_{0}=\frac{a-b}{3}$, system (3) undergoes a Hopf bifurcation at the equilibrium $E_{1}$.

Proof. If $c=c_{0}$, then equation (5) is equivalent to

$$
\left(\lambda^{2}-a b\right)\left(\lambda+\frac{2(b-a)}{3}\right)=0
$$

Therefore, the characteristic equation has a pair of purely imaginary roots $\lambda_{1,2}= \pm \mathrm{i} \sqrt{-a b}$ and a negative real root $\lambda_{3}=\frac{2(a-b)}{3}$.
Differentiating both sides of equation (5) with respect to $c$, we obtain

$$
\frac{\mathrm{d} \lambda}{\mathrm{~d} c}=-\frac{\lambda^{2}+2 a b}{3 \lambda^{2}+2 \lambda(b+c-a)-a b},
$$

and

$$
\begin{aligned}
\left.\frac{\mathrm{d} \operatorname{Re} \lambda}{\mathrm{~d} c}\right|_{c=c_{0}} & =-\frac{54 a^{2} b^{2}}{36 a^{2} b^{2}-16 a b(a-b)^{2}}<0 \\
\left.\frac{\mathrm{~d} \operatorname{Im} \lambda}{\mathrm{~d} c}\right|_{c=c_{0}} & =\frac{36 a b(b-a) \sqrt{-a b}}{36 a^{2} b^{2}-16 a b(a-b)^{2}}<0
\end{aligned}
$$

According to Hopf bifurcation theorem in [10], we can conclude that $c_{0}$ is the critical value. The equilibrium $E_{1}$ is stable when $c>c_{0}$ and there exist periodic solutions when $c<c_{0}$. The conclusions follows.

## III. Properties of Hopf bifurcation

In this section, we shall derive the explicit formulae determining the direction, stability, and period of these periodic solutions bifurcating from $E_{1}$ at $c_{0}$, by using techniques from normal form theory and center manifold theorem [10].
Let the eigenvectors corresponding to the eigenvalues $\lambda_{1}=$ $\mathrm{i} \sqrt{-a b}$ and $\lambda_{3}=2 c_{0}$ be $u_{1}+\mathrm{i} u_{2}$ and $u_{3}$. By direct calculations, we get
$u_{1}=\left(\begin{array}{l}1 \\ 1 \\ 0\end{array}\right), u_{2}=\left(\begin{array}{c}0 \\ -\frac{\omega}{a} \\ \frac{d \sqrt{-a}(a-c)}{a \sqrt{c d}}\end{array}\right), u_{3}=\left(\begin{array}{c}1 \\ \frac{a-2 c}{a} \\ \frac{a d}{2 b c \sqrt{b c d}}\end{array}\right)$.

Define

$$
P=\left(u_{1},-u_{2}, u_{3}\right)=\left(\begin{array}{ccc}
1 & 0 & 1 \\
1 & \frac{\omega}{a} & \frac{a-2 c}{a} \\
0 & -\frac{d(a-c)}{\sqrt{-a c d}} & \frac{a d}{2 b c \sqrt{b c d}}
\end{array}\right)
$$

and

$$
\left(\begin{array}{l}
x_{1} \\
y_{1} \\
z_{1}
\end{array}\right)=P\left(\begin{array}{l}
x_{2} \\
y_{2} \\
z_{2}
\end{array}\right)
$$

Then

$$
\left\{\begin{array}{l}
\dot{x}_{2}=-\sqrt{-a b} y_{2}+F_{1}\left(x_{2}, y_{2}, z_{2}\right)  \tag{6}\\
\dot{y}_{2}=\sqrt{-a b} x_{2}+F_{2}\left(x_{2}, y_{2}, z_{2}\right) \\
\dot{z}_{2}=(a-b-c) z_{2}+F_{3}\left(x_{2}, y_{2}, z_{2}\right)
\end{array}\right.
$$

where
$F_{1}\left(x_{2}, y_{2}, z_{2}\right)=-d\left(x_{2}+z_{2}\right)\left(x_{2}+\frac{\sqrt{-a b}}{a} y_{2}+\frac{a-2 c}{a} z_{2}\right)$,
$F_{2}\left(x_{2}, y_{2}, z_{2}\right)=d\left(x_{2}+z_{2}\right)\left[-\frac{4 b c^{2} \sqrt{b c d}}{a \sqrt{-a b}} x_{2}-\left(\frac{4 b c^{2} \sqrt{b c d}}{a^{2}}\right.\right.$

$$
\left.\left.+\frac{a d(a-c)}{\sqrt{-a c d}}\right) y_{2}+\left(\frac{a^{2} d}{2 b c \sqrt{b c d}}-\frac{4 b c^{2} \sqrt{b c d}}{a \sqrt{-a b}}\right) z_{2}\right]
$$

$F_{3}\left(x_{2}, y_{2}, z_{2}\right)=-F_{1}\left(x_{2}, y_{2}, z_{2}\right)$.
According to the procedures proposed by Hassard et al. [10], we can get

$$
\begin{aligned}
g_{11}= & \frac{1}{4}\left(\frac{\partial^{2} F_{1}}{\partial x_{2}^{2}}+\frac{\partial^{2} F_{1}}{\partial y_{2}^{2}}+\mathrm{i}\left(\frac{\partial^{2} F_{2}}{\partial x_{2}^{2}}+\frac{\partial^{2} F_{2}}{\partial y_{2}^{2}}\right)\right) \\
= & -\frac{d}{4}\left(1+\mathrm{i} \frac{4 b c^{2} \sqrt{b c d}}{a \sqrt{-a b}}\right), \\
g_{02}= & \frac{1}{4}\left(\frac{\partial^{2} F_{1}}{\partial x_{2}^{2}}-\frac{\partial^{2} F_{1}}{\partial y_{2}^{2}}-2 \frac{\partial^{2} F_{2}}{\partial x_{2} \partial y_{2}}+\mathrm{i}\left(\frac{\partial^{2} F_{2}}{\partial x_{2}^{2}}-\frac{\partial^{2} F_{2}}{\partial y_{2}^{2}}\right.\right. \\
& \left.\left.+2 \frac{\partial^{2} F_{1}}{\partial x_{2} \partial y_{2}}\right)\right) \\
= & -\frac{d}{4}\left(1-2\left(\frac{4 b c^{2} \sqrt{b c d}}{a^{2}}+\frac{a d(a-c)}{\sqrt{-a c d}}\right)\right) \\
& -\mathrm{i} \frac{d}{4}\left(\frac{4 b c^{2} \sqrt{b c d}}{a \sqrt{-a b}}+2 \frac{\sqrt{-a b}}{a}\right),
\end{aligned}
$$

$$
g_{20}=\frac{1}{4}\left(\frac{\partial^{2} F_{1}}{\partial x_{2}^{2}}-\frac{\partial^{2} F_{1}}{\partial y_{2}^{2}}+2 \frac{\partial^{2} F_{2}}{\partial x_{2} \partial y_{2}}+\mathrm{i}\left(\frac{\partial^{2} F_{2}}{\partial x_{2}^{2}}-\frac{\partial^{2} F_{2}}{\partial y_{2}^{2}}\right.\right.
$$

$$
\left.\left.-2 \frac{\partial^{2} F_{1}}{\partial x_{2} \partial y_{2}}\right)\right)
$$

$$
=-\frac{d}{4}\left(1+2\left(\frac{4 b c^{2} \sqrt{b c d}}{a^{2}}-\frac{a d(a-c)}{\sqrt{-a c d}}\right)\right)
$$

$$
-\mathrm{i} \frac{d}{4}\left(\frac{4 b c^{2} \sqrt{b c d}}{a \sqrt{-a b}}-2 \frac{\sqrt{-a b}}{a}\right)
$$

$G_{21}=\frac{1}{8}\left(\frac{\partial^{3} F_{1}}{\partial x_{2}^{3}}+\frac{\partial^{3} F_{1}}{\partial x_{2} \partial y_{2}^{2}}+\frac{\partial^{3} F_{2}}{\partial x_{2}^{2} \partial y_{2}}+\frac{\partial^{3} F_{2}}{\partial y_{2}^{3}}+\mathrm{i}\left(\frac{\partial^{3} F_{2}}{\partial x_{2}^{3}}\right.\right.$

$$
\left.\left.+\frac{\partial^{3} F_{2}}{\partial x_{2} \partial y_{2}^{2}}-\frac{\partial^{3} F_{1}}{\partial x_{2}^{2} \partial y_{2}}-\frac{\partial^{3} F_{1}}{\partial y_{2}^{3}}\right)\right)
$$

$$
=0
$$

From the dimension $n=3>2$, we calculate the following,

$$
h_{11}=\frac{1}{4}\left(\frac{\partial^{2} F_{3}}{\partial x_{2}^{2}}+\frac{\partial^{2} F_{3}}{\partial y_{2}^{2}}\right)=\frac{d}{4}
$$

$h_{20}=\frac{1}{4}\left(\frac{\partial^{2} F_{3}}{\partial x_{2}^{2}}-\frac{\partial^{2} F_{3}}{\partial y_{2}^{2}}-2 \mathrm{i} \frac{\partial^{2} F_{3}}{\partial x_{2} \partial y_{2}}\right)=\frac{1}{4}\left(d-2 \mathrm{i} \frac{d \sqrt{-a b}}{a}\right)$.
By solving the linear equations

$$
\begin{gathered}
\lambda_{3} \omega_{11}=-h_{11} \\
\left(\lambda_{3}-2 \mathbf{i} \sqrt{-a b}\right) \omega_{20}=-h_{20}
\end{gathered}
$$

we obtain

$$
\begin{gathered}
\omega_{11}=-\frac{d}{4(a-b-c)} \\
\omega_{20}=-\frac{d(a-5 b-c)+\mathrm{i}\left[2 d \sqrt{-a b}-2(a-b-c) \frac{d \sqrt{-a b}}{a}\right]}{4(a-b-c)^{2}-16 a b}
\end{gathered}
$$

Furthermore, we have

$$
\begin{aligned}
G_{110}= & \frac{1}{2}\left(\frac{\partial^{2} F_{1}}{\partial x_{2} \partial z_{2}}+\frac{\partial^{2} F_{1}}{\partial y_{2} \partial z_{2}}+\mathrm{i}\left(\frac{\partial^{2} F_{2}}{\partial x_{2} \partial z_{2}}-\frac{\partial^{2} F_{2}}{\partial y_{2} \partial z_{2}}\right)\right) \\
= & -\frac{d}{2}\left(2-\frac{2 c}{a}+\frac{\sqrt{-a b}}{a}\right)+\mathrm{i} \frac{d}{2}\left(\frac{a^{2} d}{2 b c \sqrt{b c d}}\right. \\
& \left.-\frac{8 b c^{2} \sqrt{b c d}}{a \sqrt{-a b}}+\frac{4 b c^{2} \sqrt{b c d}}{a^{2}}+\frac{a d(a-c)}{\sqrt{-a c d}}\right)
\end{aligned}
$$

$$
\begin{aligned}
G_{101}= & \frac{1}{2}\left(\frac{\partial^{2} F_{1}}{\partial x_{2} \partial z_{2}}-\frac{\partial^{2} F_{1}}{\partial y_{2} \partial z_{2}}+\mathrm{i}\left(\frac{\partial^{2} F_{2}}{\partial x_{2} \partial z_{2}}+\frac{\partial^{2} F_{2}}{\partial y_{2} \partial z_{2}}\right)\right) \\
= & -\frac{d}{2}\left(2-\frac{2 c}{a}-\frac{\sqrt{-a b}}{a}\right)+\mathrm{i} \frac{d}{2}\left(\frac{a^{2} d}{2 b c \sqrt{b c d}}\right. \\
& \left.-\frac{8 b c^{2} \sqrt{b c d}}{a \sqrt{-a b}}-\frac{4 b c^{2} \sqrt{b c d}}{a^{2}}-\frac{a d(a-c)}{\sqrt{-a c d}}\right) .
\end{aligned}
$$

So we can compute the following quantities:

$$
\begin{gathered}
g_{21}=G_{21}+\left(2 G_{110} \omega_{11}+G_{101} \omega_{20}\right) \\
c_{1}(0)=\frac{1}{2 \omega}\left(g_{20} g_{11}-2\left|g_{11}\right|^{2}-\frac{1}{3}\left|g_{02}\right|^{2}\right)+\frac{1}{2} g_{21} \\
\mu_{2}=-\frac{\operatorname{Re}\left(c_{1}(0)\right)}{\operatorname{Re}\left(\lambda^{\prime}\left(c_{0}\right)\right)} \\
\beta_{2}=2 \operatorname{Re}\left(c_{1}(0)\right) \\
\tau_{2}=-\frac{\operatorname{Im}\left(c_{1}(0)\right)+\mu_{2} \operatorname{Im}\left(\lambda^{\prime}\left(c_{0}\right)\right)}{\omega} .
\end{gathered}
$$

It is well known that $\mu_{2}$ determines the direction of the Hopf bifurcation: if $\mu_{2}>0\left(\mu_{2}<0\right)$, then the Hopf bifurcation is subcritical (supercritical) and the bifurcating periodic solutions exist for $c>c_{0}\left(c<c_{0}\right)$; $\beta_{2}$ determines the stability of bifurcating periodic solutions: the bifurcating periodic solutions on the center manifold are stable (unstable)
if $\beta_{2}<0\left(\beta_{2}>0\right)$; and $\tau_{2}$ determines the periods of the
bifurcating periodic solutions: the periods increase (decreases) bifurcating periodic solutions: the periods increase (decreases) if $\tau_{2}>0\left(\tau_{2}<0\right)$.

From the proof of Theorem 2.2, we know that $\operatorname{Re}\left(\lambda^{\prime}\left(c_{0}\right)\right)<$ 0 , therefore we have the following result.
Theorem 3.2. The direction of the Hopf bifurcation of (3) at $E_{1}$ is supercritical (subcritical) and the bifurcating periodic solutions on the center manifold are stable (unstable) if $\operatorname{Re}\left(c_{1}(0)\right)<0\left(\operatorname{Re}\left(c_{1}(0)\right)>0\right)$.

## IV. Numerical example

Next, we shall give a numerical example of system (3). Let $a=-5, b=5$ and $d=-3$, we can compute the Hopf bifurcation value $c_{0}=-\frac{10}{3}$. The equilibrium is stable when $c=-2>c_{0}$ and unstable when $c=-4<c_{0}$, as shown in Figs. 2 and 3, respectively. From the formulas in previous section, we have $c_{1}(0)=-553.81375-1060.87537 \mathrm{i}$ when $c=-4$. Thus, the periodic solutions bifurcating from positive equilibrium is supercritical and stable.


Fig. 2. Phase diagram of system (3) with $a=-5, b=5$,

$$
c=-2 \text { and } d=-3 .
$$



Fig. 3. Phase diagram of system (3) with $a=-5, b=5$,

$$
c=-4 \text { and } d=-3
$$

## V. Conclusions

In this paper, a three dimensional autonomous chaotic system has been studied. By choosing an appropriate bifurcation parameter, we prove that Hopf bifurcation occurs when
the bifurcation parameter passes through the critical value. The direction of the Hopf bifurcation and stability of the bifurcating periodic solutions are analyzed in detail.
Apparently there are more interesting problems about this chaotic system in terms of complexity, control and synchronization, which deserve further investigation.

## Acknowledgment

This work was supported by Natural Science Foundation of Anhui Province (No. 090416222) and Special Foundation for Young Scientists of the Higher Education Institutions of Anhui Province (No. 2009sqrz083, 2010SQRW056).

## References

[1] E.N. Lorenz. Deterministic non-periodic flows. J. Atmospheric. Sci. 20 (1963), 130-141.
[2] Q.E. Rössler. An equation for continuous chaos. Phys. Lett. A 57 (1976), 397-398.
[3] G. Chen, T. Ueta. Yet another chaotic attractor. Int. J. Bifur. Chaos 9 (1999), 1465-1466.
[4] J. Lü, G. Chen. A new chaotic attractor coined. Int. J. Bifur. Chaos 12 (2002), 659-661.
[5] C. Liu, T. Liu, L. Liu, K. Liu. A new chaotic attractor. Chaos, Solitons and Fractals 22 (2004), 1031-1038.
[6] G. Qi, G. Chen, S. Du, Z. Chen, Z. Yuan. Analysis of a new chaotic system. Physica A 352 (2005), 295-308.
[7] G. Tigan. Analysis of a 3D chaotic system. Chaos, Solitons and Fractals 36 (2008), 1315-1319.
[8] J. Wang, Z. Chen, Z. Yuan. A new chaotic system and analysis of its properties. Acta Physica Sinica 55 (2006), 3956-3963. [in Chinese]
[9] J. Wang, Z. Chen, Z. Yuan. Existence of a new three-dimensional chaotic attractor. Chaos, Solitons and Fractals 42 (2009), 3053-3057.
[10] B.D. Hassard, N.D. Kazarinoff, Y.H. Wan. Theory and Applications of Hopf bifurcation. Cambridge: Cambridge University Press, 1981.


[^0]:    Kejun Zhuang is with the Institute of Applied Mathematics, School of Statistics and Applied Mathematics, Anhui University of Finance and Economics, Bengbu 233030, P.R.China, e-mail: zhkj123@163.com

